Activity 4 - Structure testing

Test | Type of Test data Expected results Add screenprint(s) of the results of this test (and any retests)
No test Ensure you show the test data used in the screenprint(s)
(N, R,
X)
1 R CustomerlD: AutoNumber | Error message to appear tbiCustomer
Surname: blank saying the customer’s CustomerlD - | Surname - Forename - | Telephone - CustomerTy - (
Forename: Gill surname must be present 3 1 Mitchell Mildred 03415610539 3
Telephone: 03415610599 * 2 Ferguson Amanda 01776717391 1
CustomerType|D: 1 ¥ 3 Ferguson Eric 03594633138 2
+ 4 Matinez Ralph 06408785372 1
* S Butler Ruby 07975693071 3
alc 8 Gill 03415610599 1|~
* (Ne
Microsoft Access *
! You must enter the customer's surname
Help
2 R CustomerlD: AutoNumber | No error message to T tbiCustomer <
Surname: Meek appear but will not be able CustomerlD - | Surname - Forename - | Telephone - | CustomerTy - |
Forename: Gill to input the telephone + 1 Mitchell Mildred 03415610533 3
Telephone: number + 2 Ferguson Amanda 01776717351 1
(0341)5610599 + 3 Ferguson Eric 03594633138 2
CustomerTypelD: 1 + 4 Matinez Ralph 06408785372 1
+ 5 Butler Ruby 07975693071 3
= 9 Meek Gill ! 1
+ (Mew]
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Test | Type of

Test data

Expected results

Add screenprint(s) of the results of this test (and any retests)

Add

AutoNumber
TlcketType: Camping
TicketCost: £38.00

Error message to appear

saying the ticket cost can

only be £39.00, £49.00 or
£88.00

No test Ensure you show the test data used in the screenprint(s)
(NI RI
X)
3 * CustomerID: AutoNumber | Error message to appear ] thiCustomer
X Surname: Meek saying the text is not in CustomerlD -~ | Surname ~ | Forename -~ | Telephone - |CustomerTy - | Click to
Forename: Gill the list and to select an i ; :’"“he" T'dre;' giﬁz:ig::i i
. ) ) + erguson manda
Telephone: 03415610599 | item from the list . 3 Ferguson Eric 03594633138 5
CustomerTypelD: O + 4 Matinez Ralph 06408785372 1
+ 5 Butler Ruby 07375693071 3
£ 10 Meek Gill 03415610599 of~
* (Rl
Microsoft Access b4
o The text you entered isn’t an item in the list.
Select an item from the list, or enter text that matches one of the listed items.
4 R TicketTypelD:

thiTicketType

TicketTypell -  TicketType - TicketCost - Click o Add -

+ 1 Friday £39.00

+ 2 Saturday £49.00

+ 3 Camping £28.00

FlEs 5 Camping 38

& {New) £0.00
Microsoft Access *

| Ticket cost can only be £39.00, £49.00 or £33.00

Help

Activity 4 - Structure testing — January 2020

13| Page



Test | Type of Test data Expected results Add screenprint(s) of the results of this test (and any retests)
No test Ensure you show the test data used in the screenprint(s)
(NI RI
X)
5 * TicketNumber: 1003 Error message to appear tbiTickets
X TicketTypelD:1 saying the text is not in TicketNumb - | TicketTypell « CustomerlD - | Click to Add -~
CustomerlD:0 the list and to select an

i f the list 1090 ' !

item from 1001 1 1

1002 1 2

N 1003 1 0|~

1004 2 3

Microsoft Access
o The text you entered isn't an item in the list.
Select an item from the list, or enter text that matches one of the listed items.
6 * TicketNumber: 1003 Error message to appear ® « thiTickets |
X TicketTypelD:0 saying the text is not in : 5 TicketNumb - TicketTypell - | CustomerlD ~ | Click to Add -
CustomerlD:1 the list and to select an " 1000 1 1
item from the list 1001 1
1002 2
N3 1003 0/~ 1
Microsoft Access *

o The text you entered isn't an item in the list.

Select an item from the list, or enter text that matches one of the listed items.

* Candidates may use R in place of X where indicated - see Lead Examiner report
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